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[31] [A]
{9 -I (PART -1I)
919 {9 g RN (CHILD DEVELOPMENT AND PEDAGOGY)
fdsr : i g7 % v &7 % [ @9g ST Awey g
Direction : Answer the following questions by selecting the most appropriate option.
1. ARERET & ‘el 1. Who propounded the 'Need
&1 gfoares e R ? Hierarchy Theory' of Motivation ?
[1] & [1] Hull
[2] A& [2] Maslow
[3] wefpae [3] Atkinson
(4] 9T [4] Thomson
2. T 2. Which of the following is not a
&y fafy 7&f B ? projective technique of personality
assessment ?
[1] q=-grEad [1] Word-association
[2] EH?P:IE(% [2] Sentence completion
[3] gUi9 i [3] Expressive movement
[4] [4] Sociometry
3. =b 3. Which of the following is not an
ARERE 78 & ? extrinsic motive ?
[1] 375 & R S sfeeqat e [1] Competing in sport for trophy
[2] 39 & fIC ABd HE g} go%ngjob f.orl salar;i ; it
. 2 oing social service for self-
3] IIcIElgi %ﬁ Sl satisfaction
[4] T Gl W g arr [4] Buy one get one free
4. JERRe oTEry qoeer ek & . 4. Thematic Apperception Test is used
HIYT %ﬁ STERT # @ S R to measure the ........... of students.
[1] g [1] Intelligence
[2] S [2] Aptitude
[3] SAf¥ghT [3] Attitude
[4] T [4] Personality

Level-2/805
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[A]
5.
% He ¥ 9 78 B °
[1] 8 STHJEH S~ I Bl
[2] a8 URRAG & ¥
afa & B
[3]
URad @ @I T 3T 2
[4]
AR =i @ foRy & B
6. T
& e fom Bt B 7
[1] GaE-ushig
[2] E-Hisharceh
[3] Hei-Hfspareeh
[4] STr=nfe-dihar®
1. f=ffag & 9 a9-91 e @& 78
g7
e & 7 el &
TS fawra @t E |
[1] - Q0 ofaeRT
/g
2] ~ Uredl Sraeen
gyt
[3] - Ugall oTae
ool T ST
[4] - Al aTaRRr
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5. Which of the following statement is
not correct with reference to
adjustment ?

[1] It creates imbalance.

[2] It motivates to change the life as
per the demand of the situation.

[3] It gives ability to bring desirable

changes in the conditions of

environment.

[4] In the absence of adjustment one

is surrounded by tension and

anxiety.

|®

According to Piaget's cognitive
development theory, the 'ability of
reversibility' develops during which
developmental stage ?

[1] Sensory motor

[2] Pre-operational

[3] Concrete-operational

[4] Formal-operational

Z. Which of the following match is not

correct ?

Erikson's Stages of Serial
Psycho-social Number of
Development Stages

[1] Initiative Vs Guilt - Stage 3

[2] - Stage 5
Confusion

[3] - Stage 1
Shame and Doubt

(4] - Stage 4
Inferiority
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[5] [A]
8. ™ 8. Which of the following elements is
PEED esar aia 8 d6a 78 not related to Skinner's operant
g7 conditioning theory ?
[1] s [1] Extinction
[2] fases [2] Discrimination
[3] @d: Gﬂﬁ [3] Spontaneous recovery
(4] gﬂé?ﬁ [4] Reinforcement
9. 9. Which of the following statement is
% dael § el 7@ ' 7 not correct with reference to Attitude ?
[1] [1] Attitude has motivational-
CERGI tﬂg S R affective characteristics.
[2] [2] Attitude can range strongly
TS & Tl ol positive to strongly negative.
[3] [3] Attitude have a subject-object
S & relationship.
[4] [4] Attitude is innate and acquired
both.
10. 10. Which of the following statement is
e & X & @@ & ? correct about the development of
children ?
[1] [1] Development is a product of
SR &l only hereditary.
[2] [2] Development follows a random
T & pattern.
[3] fara s He ufkan 2l [3] Development is a cumulative
process.
[4] [4] Different aspects of development
are not interrelated.
11. 11. Cattell's culture free test of
TR T intelligence is a type of :
[1] FafRe smiash qereT & [1] Individual Verbal Test
(2] HP;'@?E qifsEen TOET &l [2] Group Verbal Test
[3] temisash GLiErT [3] Non-Verbal Test
[4] [4] Verbal and Non-Verbal Test

Level-2/805
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12,

fadar 72 & °
[1] Riferemar
[3] o=

[2] SrEstiaar
[4] RIS
frfafed & & &
STfeRTT ufsar 1 gefad 7 e ' 7
[1] frees @1 frerer B

[2] [reT T AT @eed

[3] foreres &1 fawg &=

[4] freres 1 SRS &9

g7

[1] ST

[2] Y@

[3] HXEe T TbEie® Al

[4] 279 & Hig &

foren & Q. wh Hewqel Qo § 7

[1] SfrTSTe
[2] % STfFTHRAT
[3] SAfer™ oreme

[4] T g

Gop Y R CEEG |

LI

e SR %l geae TR © ¢
[1] fHigea efqua

[2] aREcsiie e

[3] Fi¥era rqur

[4] &dd

Level-2/805

[6]

GET IT ON
Google Play

Which of the following is not a
characteristic of creativity ?

[2] Flexibility
[4] Fluency

[1] Originality
[3] Rigidity

Which of the following factors does not
affect the teaching-learning process ?

[1] Teaching skill of teacher
[2] Mental health of teacher
[3] Subject knowledge of teacher

[4] Physical appearance of teacher

What kind of changes does growth
bring about in children ?

[1] Structural

[2] Functional

[3] Structural and functional both
[4] None of these

'Acceleration’ is an important plan
for education of which type of
special children ?

[1] Gifted

[2] Slow learner

[3] Learning disabled

[4] Mentally retarded

What type of reinforcement schedule
is to reinforce each correct response of
the learner, in operant conditioning ?
[1] Fixed interval

[2] Variable interval

[3] Fixed ratio

[4] Continuous
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[1] [A]
17. T 17. 'Development proceeds in the
fesm % o Sodr ¥, Fea © direction of longitudinal axis (head
1] o ?ﬁ_m t[(;]fogz:)[')’h(;&llilieg;udal
[2] [2] Proximodistal
[3] wfte [3] Spiral
[4] g [4] Circular
18. 18. A type of intelligence test in which
the questions are similar in difficulty
level but more importance is given to
S B the time element :
[1] T oqeer [1] Speed Test
[2] QAR 9eToT [2] Power Test
[3] wrisash GierT [3] Verbal Test
(4] [4] Performance Test
19. 19. Which of the following is not a
# e oy 78 ? subjective method of personality
[1] EETER 2[1ls]se;sinen't ?
> nterview
[2] [2] Observation
RIRISER [3] Autobiography
[4] =2 e [4] Word Association
20. 20. Meenal is average in intelligence,
low in creativity and high level in
I © - adjustment. This is an example of :
[1] i RrTaret & [1] Inter Individual Differences
[2] ST:afas Rramet & [2] Intra Individual Differences
[3] STaqeAg F=Tamet & [3] Observable Differences
[4] [4] Expected Differences
21. X 1 9 21. Which type of curriculum did Bruner
suggest to follow for the cognitive
gea foar ? development of children ?
[1] |H@sh qISThH [1] Inclusive curriculum
[2] fafarse qreased [2] Special curriculum
[3] @it aregsh [3] Spiral curriculum
[4] [4] Integrated curriculum

Level-2/805
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[A]
22. [
free forepfera fobam ?
[1] arTcent
[2] TREEs
[3] gaert
[4] STHBTST
23.
T B 7
[1] TR [2] FfRTh
[3] OFTiwiBeer  [4] &9
24. T
gfs EXE Hisa & S 78T © 7
[1] wfpar [2] &5
KIRELREES! [4] S
fomar ?
[1] TR [2] R
[3] et [4] T
26.

i # ORerR wd  faee
ey d % IEe 8 7

[1] Fshfrey
[2] AT

[3] Tepftes
[4] AT

Level-2/805
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Who developed the Socio-cultural
theory of development ?

[1] Vygotsky
[2] Erikson
[3] Kohlberg

[4] Bronfenbrenner

What is the mechanism called,

change his own ego to that of
someone else ?

[1] Identification [2] Rationalization

[3] Sublimation [4] Projection

Which of the following component
is not the part of Guilford structure
of Intellect model ?

[1] Operation
[3] Content

[2] Cognition
[4] Product

Who propounded the Triarchic

theory of Intelligence ?
[1] Gardner [2] Guilford
[3] Sternberg [4] Vernan

'Family and School' are the examples
of which environmental system in
Bronfenbrenner's
Model theory ?

Bio-ecological

[1] Macro system

[2] Micro system

[3] Exosystem

[4] Chromosystem
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[9]

Frfoied & & @F-a1 g a8 78
g7

Rrsia frsia
[1] fEs -
Rl
[2] ST -
Rl
[3] W -
Rl
[4] — e foem fsia
i.\
R i S 78 © 7
[1]
ST
[2] ¥ T4 gEA F THE BT
[3] Hfd Sepiamd

[4] SFaeR H ST+l

AR TR HE 517 A Qe
P I8 g e s @ . & 7

[1] AR [2] BSWiS
[3] g [4] difees

&

Teeare § gat 78 2 ?

[1] rEax [2] TR

[3] %R [4] TR

21.

GET IT ON
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[A]
Which of the following pair is not
correct ?
Theory Theory
Propounder
[1] Piaget — Cognitive

Development Theory

[2] Bandura -

Theory
[3] Erikson — Psycho-socio
Development Theory
[4] Vygotsky —

Theory

Which of the following is not the
characteristic of a well-adjusted person ?

[1] Awareness of his own potentials
and limitations

[2] Respecting himself and others
[3] Balanced aspirations

[4] Rigidity in behaviour

"Mental health is the full
harmonious functioning of the whole
This of
mental health is given by whom ?

[2] Hadfield
[4] Waltin

and
personality." definition

[1] Menninger
[3] Drever

30. Out of the following Psychologists,

who is not related with Gestaltism ?
[1] Kohler [2] Koffka
[3] Kretschmer [4] Wertheimer

Level-2/805
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[T - II (PART - II)
A7 (< g 3i3SH) [ LANGUAGES (HINDI & ENGLISH) |
f&=<t (HINDI)

& : e 797 % o7 &7 & [ qag ST [dwey g

31. FpaT & 3 | o7 fashed T ¢

[1] Y 9= forgarmr & - SRomef®
fera

[2] ST B IR Gl & - THHD
ER|

[3] STedTUs SToih &l f&dl er @ 8
- et B

[4] ol S-S/ 29 @ R -
UpHE R

ST ffivan ¥
[1] ®gF, ST, Tl
[2] ®gF, THY, HeWT
[3] %ad, FEI, FIIT
[4] %ad, STEN, FYIT
33. ‘WEARRY 9% H ol GY-FETE ©
[1] & + SR
[2] &9 + =R
[3] | + =R
[4] |1Y + STERE

Level-2/805

34.

Jo %l g § HA-A1 I @& © ¢

[1] g -
PR - o
[3] Tl - ARE
[4] B&ER - &

‘e’ 95 H HH-91 G 8 7
[1] STfcares
[2] HIEETE®

[3] SedrE®
[4] =fedares

36. ‘SEE’ 9 H WHE B

[1] @it
2] FgeH
[3] T
[4] Tt

31. fodm @t gftc | org faebea g -

[1] T& - g

[2] @fe - THiRe
[3] fesid - foRga
[4] F@rEe - g
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38. T = & PA-6 @y § ?
[1] &9 @ dfr
[2] o1 @ GfY
[3] 99 &R Gy
[4] &S €iY
39. ‘FETET H WEH T B
[1] Seher
[2] s
[3] @St
[4] =T

ST B3 B 7

[1] o of= feelt g & m

[2] o OfE &7 @1 T

[3] Jor@ el e # uedl B

[4] I % 9T FB T &9 @ o

SART B3 B 7
[1] Jo5ar=h
[2] feotare
KIRRLEREIEE?
[4] AFL=TETh

[11]
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[A]

ST e & 7
[1] gt
[2] ==
[3] diera
[4] @

43. ‘GO 9= § -9 q99 ® ?

[1] FHERT 99
[2] &5 999
[3] STEAEE 9

(4] STgE T THIH

44. 9 9= F O IUE B TEN 78T

g § 7

[1] STgTX
[2] STgwH
[3] STg=X
[4] ST

g7

[1] T sr=af |

[2] 39T o=ai H

[3] dewa g |

[4] Soga &+t o=t |

Level-2/805
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Direction : Answer the following questions by selecting the most appropriate option.

46. Select the appropriate one word

substitution for the following :
Former students of a school or college

[1] Emblem [2] Alumni
[3] Expert [4] Incharge

41. Change the Narration :

"I'm taking the children to the
z00 tomorrow." She said.

[1] She told that she would be
taking the children to the zoo the
day after

[2] She said that she will take the
children to the zoo the next day

[3] She told that she will be taking
the children to the zoo

[4] She will take the children to the
700, she said

48. Choose the correct synonym of :
Genius

[1] Happy

[2] Cheerful
[3] Talented
[4] Comfort

49. Select the appropriate preposition for
the blank :
He has not yet recovered .......... his
illness.
[1] over [2] in
[3] at [4] from

Level-2/805

50. Choose the option that brings out the

meaning of the underline idiom :

A lion's share of India's annual
budget is for defence.

[1] major share
[2] minor amount
[3] small

[4] very little

al. Select the correct antonym of :

Gloomy
[1] Praise [2] Coarse
[3] Cheerful [4] Dismal

94. Choose the appropriate conjunction

for the blank :

I shall not go .......... I am invited.
[1] and [2] unless

[3] but [4] there

93. Change the narration to Reported

Speech. Choose the right option :

"Who has been using my
typewriter 7" Said Mother.

[1] Mother asked who has been
using her typewriter

[2] Mother said who was using her
typewriter

[3] Mother asked who had been
using her typewriter

[4] Mother asked her typewriter was
being used by who
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4.

Select the correct meaning of the
underlined phrasal verb :

Who can say what will turn up next ?
[1] remember

[2] divide

[3] end

[4] happen

99. Choose the part of sentence that has

CITOor

she does not/ resemble to / either of /

A B C
her parents
D
[1] A 2] B
3] C [4] D

56. Select the correct tense form from the

options given :
When 1 first (come) to this house, it
(be) a very quiet area :

[1] comes, is
[2] came, was
[3] coming, is

[4] come, are

57. Select the correct tense form from the

options given :
Peter (try) to come in quietly but his
mother (hear) him.

[1] tried, heard
[2] trying, hears
[3] was trying, was hearing

[4] is trying, hears

[13]

58.
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[A]
Change the voice from Active to
Passive and select the correct option :
Bees make honey

[1] Honey is make by bees

[2] Bees are making honey

[3] Honey are made by bees

[4] Honey is made by bees

59. Change the voice and select the

correct option :

Somebody has put out the light.

[1] The light has put out by
somebody

[2] The light has been put out by
somebody

[3] Somebody has been out to put
light

[4] The light is being put out by
somebody

50. Select the correct preposition for the

blank :
Ishalldoit......... pleasure.
[1] in
[2] with
[3] about

[4] over

Level-2/805
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[T - ITI (PART - III)
QM TS99 (GENERAL STUDIES)

RS ARG, it ST T8 | ST U§ SIS (QUANTITATIVE APTITUDE,
REASONING ABILITY AND G.K. & AWARENESS)

& : R 797 % o7 &7 & [ qag ST 4wy g

Direction : Answer the following questions by selecting the most appropriate option.

61.

SHl Y e 1 T BAT
[1] <EX &
[2] ®R |
3] 6% &

[4] g0 &

Ua-

g7

[1] 98
[2] ST
[3] e

[4] 3

U%h 39 O 8, 39 /3G7T H BifeT :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA

Level-2/805

61.

Earth is related to Axis in the same
way as wheel is related to :

[1] Tyre
[2] Car

[3] Road
[4] Hub

62. Anil introduces Prashant, "He is the

husband of the grand daughter of the
father of my father".
Prashant related to Anil ?

How is

[1] Brother

[2] Brother in law

[3] Nephew

[4] Son

Four groups of letters are given
below, three of them are alike in

certain way while one is different,
choose the odd one :

[1] STUA
[2] RQPA
[3] MLKA
[4] HGFA
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64. =T 9 HEenm @

I
LXF, MTJ, NPN, OLR, ........
[1] PHV
[2] PIU
[3] PIW
[4] PKX
65. fhedfl Ffved Hz o '786
'Study very hard', '958" &l a1t 'Hard
work pays', '645' & &4 'Study and
work', T 'very' @ HIE T B ?
[1] 8 [2] 6
[3] 7 [4] 5
66. I A, B § 40 Hiex -
&, C, B § 40 #i<X 3hrorgd 7 &
qC, A q g fRem 4§ Brm ?
[1] 5@
[2] Uig=m
[3] STR-Fd
[4] =ferer
67. 150 foenfdl & ura ofwd sid 35

Agd i 39
et &1 ofma Wi 15

&1 3T ST
[1] 120 [2] 125
[3] 135 [4] 140

Level-2/805
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[A]

64. Find the next term in the following

letter series :

LXF, MTJ, NPN, OLR,
[1] PHV

[2] PIU

[3] PIW

[4] PKX

65. In a certain code '786' means 'Study

very hard', '958' means 'Hard work
pays', '645' means 'Study and work’,
which is the code for 'very' ?

[1] 8 [2] 6
[3] 7 4] 5
If A is 40 meter South-West of B, C

18 40 meter South-East of B, then C
is in which direction of A ?

[1] East
[2] West
[3] North-East
[4] South

67. The average marks obtained by 150

candidates was 35. If the average
marks of passed candidates was 39
and that of the failed candidate was
15, find the number of candidates
who passed the examination :

[1] 120 [2] 125
[3] 135 [4] 140
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68. IR a’=bb’=c AX ‘= ,
xyz %1 A9 ¥ B 7
[1] abc [2] 1

1

3] — [4] ab

69.
o S 4, 5, 6, 15 a2 18
foafora & -
[1] 800 [2] 225
[3] 900 [4] 361

10. 5 ' x5 7 o uw @ ?

1

n L ] -

71. T O THHARS A B & A 15 a9
I AT & & § 8 A1 B S ?

[1] 30 ¢ [2] 40 %

[4] 45 a%

g 25 oeH fhdl wEd @l 60
T e ghd &, A 10 e I HEd
& fam e § @re & ?

[1] 125 &=
[3] 100 &=
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[3] 60 T8

[2] 92 &9
[4] 150 &=

[16]

GET IT ON
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If a*=b,b" =c and *=
what is the value of xyz ?

, then

[1] abc [2] 1

1

3] — [4] ab

Find the smallest perfect square
number which is exactly divisible by

4,5,6,15and 18 :
[1] 800 [2] 225

[3] 900 [4] 361

What is the value of

-5/2 -3/2
\/g X \/g ?

1

m 2]

71. A sum of money doubles itself in 15

years at compound interest. In how
many years it will become 8 times at

the same compound interest rate ?
[1] 30 years [2] 40 years

[3] 60 years [4] 45 years

72. If 25 men can reap a crop in 60 days,

then in how many days will 10 men

reap the crop ?
[1] 125 days [2] 92 days

[3] 100 days [4] 150 days
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AR x4 L=5 g oar x4+ 1

. =
1 BR ?
[1] 125 [2] 110
[3] 115 [4] 105
14.
grT ?
2,7, 24, 77, 238, ........
[1] 721 [2] 722
[3] 723 [4] 733
15. \/8+2 8+24/8+........
I -
[1] 8 [2] 10
[3] 11 [4] 4
16. IR N H TIH G H 50%
S BT
[1] 50%
[2] 100%
[3] 125%
[4] 150%
77. IR —F M X, + ;N T+, ~ H M +
XF AT -, AW 15-5-5x20+ 10
& HM BT 7
[1] 70 [2] 78
[3] 75 [4] 73
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[17]

GET IT ON
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[A]

If x+l:5, then what is the value

of x° +i3 ?
[1] 125 [2] 110
[3] 115 [4] 105

Find the next term in the following
number series :

2, 7, 24, 77, 238,

[1] 721 [2] 722

[3] 723 [4] 733

75. Find the value of :

\/8+2 8+2v8+........

[1] 8 [2] 10
[3] 11 4] 4
If each side of the square be

increased by 50%, then find the
percentage increase in the area :

[1] 50%
[2] 100%
[3] 125%
[4] 150%

71. If xstands for —, + stands for +, + stands

for +, — stands for X, then what is
the value of 15-5+5%x20+107?

[1] 70 [2] 78
[3] 75 [4] 73
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[A]

8. fhdl %] &1 72,000

]
[{-]

82.

fordl e B 20% 1 TN BNl
SH g% H BT A 1Al

[1] 60,000 %o
[3] 40,000 To

[2] 50,000 %o
[4] 65,000 %o

T <@ § -9 I TATe 7

8, 13,21, 32,47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

T T 31 o 39 64

P IS M g T & ?
[1] 24 2] 16
[3] 8 [4] 4

J 9997 SR S fhar ® ¢

[1] STET

2] g
[3] Foa=

[4] QIOd

98 fTel, <87 Si|Ee g S §

[1] 92T

[2] T
RIRAEE
[4] Q=9
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By selling a commodity for
Rs. 72,000, a person made a profit of
20%. What was the cost price of that
commodity ?

[1] Rs. 60,000

[3] Rs. 40,000

[2] Rs. 50,000
[4] Rs. 65,000

Which
following series ?

8, 13,21, 32,47, 63, 83
[1] 13 [2] 32
[3] 47 [4] 63

term is wrong in the

80. A solid cube is coloured red on all

faces. It is cut into 64 smaller cubes
of equal size. How many small cubes
have no face coloured ?

[1] 24 [2] 16

[3] 8 [4] 4

81. The place, which was visited and

mentioned by Chinese traveller Yuan
Chwang :

[1] Agroha

[2] Sugh

[3] Kurukshetra
[4] Panipat

82. The district, where Dolomite is found :

[1] Mahendragarh
[2] Gurugram

[3] Faridabad

[4] Panipat
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[1] SfERg IRAR I JoT
[2] IRER Yea™ 9 e
[3] Jew= TRAX Tgis AT

[4] S9 STER T

TSI ®

[1] 25% [2] 33%
[3] 66% [4] 50%
-9 AR fBar T R

[1] Teu™ [2] He=ga
[3] feEX [4] &a®
@ e

[1]
BRI X &}
[2]
Y|
[3] To Fo o Uo, BREMTN &
Y|
[4]
N
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[A]

83. Under which scheme of Haryana

the socio-economic

data of all the families of Haryana is

Government

being created ?
[1] Antyoday Parivar Utthan Yojna
[2] Parivar Pehchan Patra Yojna

[3] Mukhyamantri Parivar Samriddhi
Yojna

[4] Jan Aadhar Yojna

84. Percentage of posts which have been

reserved for women in Panchayati
Raj Institutions of Haryana :

[1] 25% [2] 33%
[3] 66% [4] 50%

85. The district, where first time in

86. 'Global

Haryana  E-challan has  been

introduced :
[2] Panchkula
[4] Rohtak

[1] Gurugram
[3] Hisar

City Project' 1is being
developed by :

[1] HSIIDC, Govt. of Haryana

[2] GMDA, Govt. of Haryana

[3] HUDA, Govt. of Haryana

[4] Ministry of Urban Development,

Govt. of India
P.T.O.
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[A]
87. JE IEE, S

S ©

[1] A= e
[2] 5 af¥rs arare
[3] RN JaY ST
[4] et orare

WH T
[1] 11df
[2] 214
[3] 1540
[4] 184

89. &G W FC H
IR B -

[1] FoeEE
[2] FmeX
[3] |E
CARESIES]

g

[1] T & FJegusl
[2] G STy
[3] TG & HTAEsRT
[4] T & U

[20]
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81. The award, which is given to a sport

coach for excellence in coaching by
the Haryana State :

[1] Dronacharya award
[2] Guru Vashistha award
[3] Maharana Pratap award

[4] Arjuna award

88. The position of Haryana in India in

respect of area is :
[1] 11th
[2] 21st
[3] 15th
[4] 18th

89. The smallest (in term of area) wild

life sanctuary is :
[1] Bhindawas
[2] Nahar

[3] Saraswati

[4] Chhilchhila

90. The de jure head of the State

Administration in Haryana is :

[1] Chief Minister of the State

[2] Divisional Commissioner

[3] Advocate General of the State
[4] Governor of the State

Level-2/805
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[A]
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27

u? (2]
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—#r M

© sz Ge
&
=

ST 3]

ATAE 4]
R P ST T
HLJe

S 2
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~/ 3]
Jr 14

de 1]
e 2]
M2 3]

<\ [4]
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S 2]
Fur 3]

Fuk
P.T.O
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[1]
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¢ SUL el 107
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. NI Ti?l'ﬁﬂ T 8, o 6 e R @ R ' given by darkening complete circle using Black ball
point pen as shown below :

O @@ ® ® O @ ® O

The answer will be treated wrong;, if it is marked, as given
H P gR & e ¥ bolow 9 g
oO® @ @ O®® ®
g If you fill more than one circle it will be treated as a
ST wrong answer.

1. 6 FE F-JRaH d 39 JEeE & U & W Rl e WA w4 (

provided in the Question Booklet for the same.)

8. @l I Fa OMR
s 1 (The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. W

(white fluid) is not allowed for changing answers.)

9. T% U & ot Ru 7w R fasedi § 9 SRud fogew & T OMR ST) 056
¥ W & IR W Sfhd F P 9% SH gaa & S Gl 81 (Out of the fou

Sheet. The answer once marked is not allowed to be changed.)

10. 7=l GARET HT % 30 IR TF B AST 7 A T I§ W B A B
i wm & faRed o= 71 forEh (The candidates should ensure that the Answer Sheet is not fol
any stray mark on the Answer Sheet. Do not write your Roll No. anywhere else except in the speci
Answer Sheet.)

11. 957-GRH T I T FH AMGES T H, Fih HE G RREfT F (9eT-gRawm @ SR = & ww § e
F BiaR) A U JRaw §C JuMe TE FA® T (Handle the Question
under no circumstances (except for discrepancy in Question Booklet and Answer Sheet Serial No.), another set of
Question Booklet will not be provided.)

12. HQ‘[—W/W =% ¥ RU T wEie B TRl /el ade § swn) 9 § g (The candidates should write the correct
Number as given in the Question Booklet/Answer Sheet in the Signature Chart.)

13. ot @ qdien Sfd/d ¥ 19 0 IR UeEN WA & SifaRe e UER @ ued-
ToR, AR 6, SR SUHT A Rl o TR H AN A QA N AT ST FA B SFGAC T 8l (
not allowed to carry any textual material
any other material except the Admit Card and Identity Card inside the examination hall/room.)

14. TREE 3 I8 TN W T0E ¥l ST sasr FE (A Fo) ofX weaN wH f@m (

his/her Admit Card (Roll No.) and identity card to the Invigilator.)
15. &= e a1 Haes @ A9 Gﬂqﬁf % o Eb:l"és STl oTae WM A BiE| (No candidate, without special permission

the Superintendent or Invigilator, should leave his/her seat.)

16. FEXT FE® B AT IR T (U B 0 swnr =l wAE
HAREl T g IR BEEE A WK TE %
Al AT STCT OMR SR O #f FeiiRa @M W ot ol e ot e & of e & e T St Rl
e @ T 9 99 # SEF @ S R |
A HIl (
Invigilator on duty and signing the Signature Chart twice. Cases where a candidate has not signed the Signature Chart
second time will be deemed not to have handed over the Answer Sheet and dealt with as an unfair means case. All
candidates have to affix left hand thumb impression on the OMR answer sheet at the place specified
should be properly inked i.e. they should not be either over inked or dried in nature.)

11. (Use of Electronic/Manual Calculator is prohibited.)

18. G B H SR & i, orvaedl fefrem # & v e/ Ry
et 3 ol a1 dea a8 3 fremt w Rfed @ SINGIN g (The candidates are governed by
Guidelines/Procedure given in the Information Bulletin, all Rules and Regulations of the Board with regard to their
conduct in the Examination Hall. All cases of unfair means will be dealt with as per Rules and Regulations of the Board.)

19. el B & 9eT-gRE oI IR T W PiE A ST T HX (No part of the Question
be detached under any circumstances.)

zo.qﬁwmﬂwgéﬁw,m%ﬁm/aﬁa@sﬁﬁlﬁwww—qﬁ%%aﬁmwﬁq% A oo WY 3 AeA-
ST I (

Room/Hall. The candidates are allowed to take away this Question Booklet with them.)
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